Adet (ppb) 1D pull distribution

X2 / ndf 21.31/24 M 0.09498 + 0.1837
— lean R +0.
- pO 4455 = 27.46
1000 — 7
- Std Dev  0.9184 + 0.1299
800 —_ Underflow 0
— 6 Overflow 0
600 — l I l { l X2/ ndf 1631/5
= 1 1 l T ] + g 5 Constant 5.328 + 1.761
400 l ! |1 I l I o
Mean 0.1182 £ 0.2714
200 Sigma 0.9812 + 0.3242
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reg_asym_us_avg (ppb) 1D pull distribution

- X2 / ndf 16.55/19 M 0.06383 + 0.2029
lean . +0.
b po 428.7 + 29.39 :
7 _
- i StdDev  0.9075+ 0.1435
800 __ E Underflow 0
- 6__ Overflow 0
600 — l l l l l l C X2 ndf 227814
- I I ] I S Constant ~ 4.456 + 1.622
400 l 1 I 1 | l l l L
F r\ Mean 0.1743 + 0.2642
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reg_asym_usr (ppb 1D pull distribution

- X2 I ndf 20.39/20
Mean 0.05616 + 0.2147
o pO 437.4 £ 40.23
1000 |— 6 ] Std Dev 0.9837 +0.1518
: Underflow 0
800 —
r 5 Overflow 0
600 T l l X2 / ndf 1.91/5
— T ] .[ I ] 1 Constant 3.99 +1.24
400 L l N 1 1 | 4
/ Mean 0.09218 + 0.32519
®
200 4 Sigma 1.179 +0.355
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reg_asym_usl (ppb) 1D pull distribution

X2 / ndf 20.5/19 M 0.05018 * 0.2261
— lean X + 0.
- pO 431.1+ 40.09 F
1500 — 6~ B StdDev  1.011% 0.1599
» : Underflow 0
1000 __ 5 -_ Overflow 0
- * [ X2/ ndf 254513
C l ; L l - Constant  3.193 + 1.045
500 — L I L 1 L 1 ar 0.7522 + 2.5056
— l f T t l 4 l l l : Mean .75 + 2.505!
—} f : Sigma 2.82+6.42
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reg_asym_us_dd (ppb)

800 — X2 I ndf 22.8/19
u pO 2.35+27.84
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200 :—

—
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I [ ]
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1D pull distribution

Mean 0.005848 + 0.2387
6~ ] StdDev  1.068 + 0.1688
: Underflow
5 Overflow
L X2 / ndf 3.09/5
r Constant 3.004 + 1.065
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